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1. The protein coat of virus is called —
(A) Capsomere
(B) Cosmid
(C) Chromophore
(D) Capsid
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2. Viruses that infect bacteria, multiply and cause their lysis, are called —
(A) Lysozymes phage
(B) Lipolytic phage
(C) Lytic phage
(D) Lysogenic phage
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3. During conjugation —
(A) Cell to cell contact is required
(B) Naked DNA is transferred
(C) Bacteriophage mediates DNA transfer

(D) Only plasmid is transferred
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4. This substance is present in the cell walls of Gram-Positive bacteria only —
(A) Peptidoglycan
(B) Lipopolysaccharide
(C) Teichoic acid
(D) Endotoxin
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5. Horizontal gene transfers in prokaryotes are —
(A) Transformation
(B) Transduction
(C) Conjugation
(D) Binary fission
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6. Carrageenin is obtained from —
(A) Fucus sp.
(B) Chondrus crispus
(C) Iceland moss

(D) Chara sp.
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(B) Chondrus crispus
(C) Iceland moss

(D) Chara sp.



7. Dwarf male in Oedogonium is formed from —
(A) Auxospore
(B) Zoospore
(C) Androspore
(D) Aplanospore
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8. The chief food reserve of Phaeophyces —
(A) Floridean starch
(B) Laminarin and mannitol

(C) Oil, volutin and chrysolaminarin

(D) Starch

v | Rrewiah-a3 Alws AW 2o —
(A) e 515
(B) mifsifas @ wifase
(C) Tos, Sfrelta ¢ FREEmimfE

(D) ceroAlq



9. Coenogametes are found in —
(A) Rhizopus sp.
(B) A4scobolus sp.
(C) Agaricus sp.
(D) Saccharomyces sp.
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(A) Rhizopus sp.
(B) Ascobolus sp.
(C) Agaricus sp.
(D) Saccharomyces sp.

10. Club fungi belongs to —
(A) Zygomycotina
(B) Deuteromycotina
(C) Ascomycotina
(D) Basidiomycotina
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11. Heterothallism was discovered by —
(A) Alexopoulas
(B) A.F. Blakeslee
(C) E. J. Butler
(D) Ainsworth
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12. The fruit body of Agaricus is made up of —
(A) Primary mycelium
(B) Secondary mycelium
(C) Tertiary mycelium
(D) Diploid mycelium
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13. A disease which is more constantly present from year to year in a locality is
known as —

(A) Epidemic
(B) Endemic
(C) Pandemic
(D) Sporadic
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14. The alternate host of Puccinia graminis tritici is —
(A) Triticum vulgare
(B) Berberis vulgaris
(C) Briza minor

(D) Pennisetum typhoides
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(B) Berberis vulgaris
(C) Briza minor

(D) Pennisetum typhoides



15. IPM is —
(A) Induced Pest Management
(B) Integrated Pest Management
(C) Inhibitory Pest Management

(D) International Pest Management
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(A) Induced Pest Management
(B) Integrated Pest Management
(C) Inhibitory Pest Management

(D) International Pest Management

16. ‘HR’ full form is —
(A) Hydrogen-mediated Reaction
(B) Hypersensitive Reaction
(C) Hyperreactive Reaction
(D) Hyaline Region
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Group-A
1. Answer any one of the following : 9x1=9
(1) Give an comparative account of the sexual reproduction in Oedogonium
and Chara. Name one agar-agar producing alga. 8+1=9
(i) Describe the chemical structure of cell wall of a Gram-negative bacterium.
What is prophage? 7+2=9
2. Answer any two questions from the following : 4x2=8
(1) Write a short note on TMV. 4
(i) Discuss bacterial growth curve. 4
(i) Write a note on economic importance of algae. 4
(iv) State the use of microbes as biofertilizer and biopesticides. 2+2
Group-B
3. Answer any one of the following : 9x1=9

(1) Mention the diagnostic characters of zygomycotina and Basidiomycotina.
Name one toxin producing fungus. 4+4+1=9

(i) Describe the symptoms, causal organism, disease cycle and control
measures of brown spot of rice. 3+14+34+2=9



4. Write notes on any two of the following : 4x2=8
(1) Degeneration of sex in fungi.
(i) Fruiting body of Agaricus.
(1) Koch’s postulate.

(iv) Biological control of plant diseases.
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